1.

2x30=9x3Px3 AN |
B =
(= -






3. HeIsE

Mo

AL BE 12d? (Y 2 )

O 2x5 x3x? = 6x8 @ (3a%)* = 9a°
® -2x% x3y? = —6x° @ 484%x® + 8ax? = Gax
25a1Y _ 52

5a°



4.  a®p® = (axb3)2 =a’ 4 o, xy 9 Gf= Fotoizt

YER
=%



F17F 1007a’h Q1 R71°52] RHE 2]50] 10a 71 Holtt. o] 7]

59| g0l8 Fstolet.

B
=¥






7. %x(le— 5) = 2x(2x + 1) & 7V5ks] G Aol 4] 12 o] A%Z 4, x 9
ALE p S o), ab 9 FHL 1Sk

w
=



8. A=x2-3x+1, B =3x245, C = —2x247x ¥ W, 3(A+B)-2C—(A—C)
)2 S AGFE a, x ) AFE b, FFFE L F a+b+c 9
= otofat

Yk
=%



9.  (x+5)(Bx+2y) = AMA= W, y o] AE F5tolt

>R
=%



10. 22— {~y(y—4) + 4} S 7FE5] @ A4 2 4] A4 o 2 5},
| A ASE b et S, A5FS c B T atb-c O S
Tstete.

YEE
-



